

Journal of Computational and Applied Mathematics 91 (1998) 191-198

JOURNAL OF COMPUTATIONAL AND APPLIED MATHEMATICS

*n*th Root extraction: Double iteration process and Newton's method¹

François Dubeau*

Département de mathématiques et d'informatique, Faculté des sciences, Université de Sherbrooke, 2500 Boulevard Université, Sherbrooke, Québec, Canada, J1K 2R1

Received 16 October 1997; received in revised form 20 January 1998

Abstract

A double iteration process already used to find the *n*th root of a positive real number is analysed and showed to be equivalent to the Newton's method. These methods are of order two and three. Higher-order methods for finding the *n*th root are also mentioned. \bigcirc 1998 Elsevier Science B.V. All rights reserved.

AMS classification: 11B37; 65H05; 65D99

Keywords: nth root; Double iteration process; Newton's method; Rate of convergence

1. Introduction

Finding the *n*th root of a strictly positive real number is a basic important problem for numerical computation. Several algorithms exist to efficiently solve this problem. In this paper we present a general analysis of two families of algorithms. The first family is based on a double iteration process, while the second family is a consequence of Newton's method. These methods use explicitly only the four elementary arithmetic operations: addition, subtraction, multiplication, and division. Special cases of these two families have already been presented in the literature. These two families are equivalent as indicated below.

The double iteraction process we suggest is the following: let b_0 and z_0 be two given strictly positive real numbers such that $b_0 z_0^n = r$, and

$$b_{k+1} = b_k \left(\frac{(n-\beta)b_k + \beta}{(n+1-\beta)b_k + \beta - 1} \right)^n,$$
(1.1a)

* E-mail: francois.dubeau@dmi.usherb.ca

¹ This work has been supported in part by a FCAR grant from the "Ministère de l'Éducation du Québec" and by a grant from the Natural Sciences and Engineering Research Council of Canada.

0377-0427/98/\$19.00 © 1998 Elsevier Science B.V. All rights reserved PII \$0377-0427(98)00033-8

F. Dubeau/Journal of Computational and Applied Mathematics 91 (1998) 191–198

$$z_{k+1} = z_k \left(\frac{(n+1-\beta)b_k + \beta - 1}{(n-\beta)b_k + \beta} \right)$$
(1.1b)

k = 0, 1, 2, ..., where $\beta \in \mathbb{R}$ is fixed. We remark that $b_k z_k^n = r$, and it will be shown that $\{b_k\}_{k=0}^{+\infty}$ converges to 1, and hence $\{z_k\}_{k=0}^{+\infty}$ converges to $r^{1/n}$. Gower [8] has analysed a double iteration process that corresponds to $\beta = 0$ for $r \in (0, 1)$. Also Knill [10] has related the case $\beta = 0$ and n = 2 for $r \in (1, +\infty)$ to Newton's method for square-root extraction. A general analysis of this family will be done in Section 2.

In Section 3 we analyse Newton's method applied to the equation $F(x)=x^{\beta-n}(x^n-r)=x^{\beta}(1-r/x^n)$ to find $r^{1/n}$ where $\beta \in \mathbb{R}$ is fixed. This scheme generates a sequence $\{x_k\}_{k=0}^{+\infty}$, where

 x_0 is given (sufficiently close to $r^{1/n}$), and (1.2a)

$$x_{k+1} = x_k - \frac{F(x_k)}{F^{(1)}(x_k)} = x_k \left[\frac{(n+1-\beta)r + (\beta-1)x_k^n}{(n-\beta)r + \beta x_k^n} \right] \text{ for } k = 0, 1, 2, \dots$$
 (1.2b)

The two families of methods are equivalent. To see this, let $b_k = r/x_k^n$ in (1.2b), then we obtain

$$x_{k+1} = x_k \left(\frac{(n+1-\beta)b_k + \beta - 1}{(n-\beta)b_k + \beta} \right),$$

and

$$b_{k+1} = \frac{r}{x_{k+1}^n} = \frac{r}{x_k^n} \left(\frac{(n-\beta)b_k + \beta}{(n+1-\beta)b_k + \beta - 1} \right)^n = b_k \left(\frac{(n-\beta)b_k + \beta}{(n+1-\beta)b_k + \beta - 1} \right)^n,$$

which corresponds to (1.1). The two methods produce the same sequences, i.e. for given r and n, if $z_0 = x_0$ then $z_k = x_k$ for all k.

In Sections 2 and 3 we obtain second-order methods for $\beta \neq \frac{1}{2}(n+1)$ and third-order methods for $\beta = \frac{1}{2}(n+1)$. Finally, in Section 4, we indicate how it is possible to obtain methods of order p, for arbitrary p, for obtaining the square root [9, 13] and the *n*th root [5].

2. Double iteration process

The double iteration process we consider here is based on the following fact:

Lemma 2.1. Let r be a strictly positive real number. If $\{b_k\}_{k=0}^{+\infty}$ and $\{z_k\}_{k=0}^{+\infty}$ are two sequences of strictly positive real numbers such that (a) $b_k z_k^n = r$ for k = 0, 1, 2, ..., and (b) $\lim_{k \to +\infty} b_k = 1$, then $\lim_{k \to +\infty} z_k = r^{1/n}$.

Proof. If b_k and z_k are strictly positive real numbers and $b_k z_k^n = r$ then $z_k = (r/b_k)^{1/n}$. If $b_k \xrightarrow[k \to +\infty]{k \to +\infty} 1$, then $z_k \xrightarrow[k \to +\infty]{k \to +\infty} r^{1/n}$. \Box

Scheme (1.1) we suggest here is a generalisation and/or an extension of Gower's [8] and Knill's [10] schemes. The convergence analysis is based on the next three lemmas in which we use the

following functions:

$$\varphi(x) = \frac{x+\beta}{x+\beta-n}$$
 and $\psi(x) = \left(\frac{x}{x+1}\right)^n \varphi(x).$

Lemma 2.2. Let *n* be a strictly positive integer and $\beta \in \mathbb{R}$. Then $\varphi(x)$ is a strictly decreasing function. Moreover, $\lim_{k \to +\infty} \varphi(x) = 1 = \lim_{k \to +\infty} \varphi(x)$, and $\lim_{x \to (n-\beta)^+} \varphi(x) = +\infty = -\lim_{x \to (n-\beta)^-} \varphi(x)$.

Lemma 2.3. Let n be a strictly positive integer and $\beta \in \mathbb{R}$. For (a) n=1 and $\beta < 1$ or $n \ge 2$ and $\beta \le \frac{1}{2}(n+1), \psi(x)$ is a strictly decreasing function on $(n-\beta, +\infty)$ such that $\lim_{x\to(n-\beta)^+} \psi(x) = +\infty, \lim_{x\to+\infty} \psi(x) = 1$, and $1 < \psi(x) < \varphi(x)$, (b) n=1 and $\beta > 1$ or $n \ge 2$ and $\beta \ge \frac{1}{2}(n+1), \psi(x)$ is a strictly decreasing function on $(-\infty, -\beta]$ such that $\lim_{x\to-\infty} \psi(x) = 1, \psi(-\beta) = 0$, and $0 < \varphi(x) < \psi(x) < 1$.

Proof. The result follows from the analysis of the sign of

$$\psi^{(1)}(x) = \frac{nx^{n-1}}{(x+1)^{n+1}(x+\beta-n)^2} \left[x \left[2\beta - (n+1) \right] + \beta(\beta-n) \right] \quad \Box$$

Lemma 2.4. Let *n* be a strictly positive integer and $\beta \in \mathbb{R}$.

(a) Let n = 1 and $\beta < 1$ or $n \ge 2$ and $\beta \le \frac{1}{2}(n+1)$, and $b_0 > 1$. Let the sequences $\{a_k\}_{k=0}^{+\infty}$ and $\{b_k\}_{k=0}^{+\infty}$ be generated such that $\varphi(a_k) = b_k$ and $b_{k+1} = \psi(a_k)$ for k = 0, 1, 2, Then $\{a_k\}_{k=0}^{+\infty}$ is a strictly increasing sequence, $a_0 > n - \beta > 0$ and $\lim_{k \to +\infty} a_k = +\infty$, $\{b_k\}_{k=0}^{+\infty}$ is a strictly decreasing sequence and $\lim_{k \to +\infty} b_k = 1$.

(b) Let n=1 and $\beta > 1$ or $n \ge 2$ and $\beta \ge \frac{1}{2}(n+1)$, and $0 < b_0 < 1$. Let the sequences $\{a_k\}_{k=0}^{+\infty}$ and $\{b_k\}_{k=0}^{+\infty}$ be generated such that $\varphi(a_k) = b_k$ and $b_{k+1} = \psi(a_k)$ for k = 0, 1, 2, Then $\{a_k\}_{k=0}^{+\infty}$ is a strictly decreasing sequence, $a_0 < -\beta < -1$ and $\lim_{k \to +\infty} a_k = -\infty$, $\{b_k\}_{k=0}^{+\infty}$ is a strictly increasing sequence and $\lim_{k \to +\infty} b_k = 1$.

Proof. (a) If $b_k > 1$, $\varphi(a_k) = b_k$ implies

$$a_k = (n-\beta) + \frac{n}{b_{k-1}} > n-\beta.$$

Then $1 < b_{k+1} = \psi(a_k) < \varphi(a_k) = b_k$. Hence $\{a_k\}_{k=0}^{+\infty}$ is a strictly increasing sequence, and $\{b_k\}_{k=0}^{+\infty}$ is a strictly decreasing sequence lower bounded by 1. The result follows from the properties of $\psi(\bullet)$ and $\varphi(\bullet)$ of Lemma 2.3(a). (b) If $0 < b_k < 1$, $\varphi(a_k) = b_k$ implies

$$a_k=-\beta-\frac{nb_k}{1-b_k}<-\beta.$$

Then $1 > b_{k+1} = \psi(a_k) > \varphi(a_k) = b_k$. Hence, $\{a_k\}_{k=0}^{+\infty}$ is a strictly decreasing sequence, and $\{b_k\}_{k=0}^{+\infty}$ is a strictly increasing sequence upper bounded by 1. The result follows from the properties of $\psi(\bullet)$ and $\varphi(\bullet)$ of Lemma 2.3(b). \Box

Let us observe that

$$b_{k+1}=\psi(a_k)=\varphi(a_k)\left(\frac{a_k}{a_k+1}\right)^n=b_k\left(\frac{(n-\beta)b_k+\beta}{(n+1-\beta)b_k+\beta-1}\right)^n,$$

and

$$z_{k+1} = z_k \left(\frac{(n+1-\beta)b_k + \beta - 1}{(n-\beta)b_k + \beta} \right) = z_k \left(\frac{a_k + 1}{a_k} \right) = z_k \left(1 + \frac{1}{a_k} \right).$$

We are now ready to prove the convergence of scheme (1.1).

Theorem 2.5. Let *n* be a strictly positive integer and $\beta \in \mathbb{R}$.

(a) Let n = 1 and $\beta < 1$ or $n \ge 2$ and $\beta \le \frac{1}{2}(n+1)$, and let $\rho > 0$ be given such that $b_0 = r/\rho^n > 1$ and $z_0 = \rho$. Let $\{a_k\}_{k=0}^{+\infty}$ and $\{b_k\}_{k=0}^{+\infty}$ be generated as in Lemma 2.4 (a), and let $\{z_k\}_{k=0}^{+\infty}$ be defined by $z_{k+1} = z_k (1 + 1/a_k)$ for k = 0, 1, 2, Then $\{z_k\}_{k=0}^{+\infty}$ is a strictly increasing sequence and $\lim_{k \to +\infty} z_k = r^{1/n}$.

(b) Let n=1 and $\beta > 1$ or $n \ge 2$ and $\beta \ge \frac{1}{2}(n+1)$, and let $\rho > 0$ be given such that $0 < b_0 = r/\rho^n < 1$ and $z_0 = \rho$. Let $\{a_k\}_{k=0}^{+\infty}$ and $\{b_k\}_{k=0}^{+\infty}$ be generated as in Lemma 2.4 (b), and let $\{z_k\}_{k=0}^{+\infty}$ be defined by $z_{k+1} = z_k (1 + 1/a_k)$ for k = 0, 1, 2, Then $\{z_k\}_{k=0}^{+\infty}$ is a strictly decreasing sequence and $\lim_{k \to +\infty} z_k = r^{1/n}$.

Moreover, the convergence is quadratic for $\beta \neq \frac{1}{2}(n+1)$ and cubic for $\beta = \frac{1}{2}(n+1)$ and $n \ge 2$.

Proof. From Lemma 2.4a, $\{z_k\}_{k=0}^{+\infty}$ is a strictly increasing sequence of strictly positive real numbers because $z_0 > 0$ and $(1 + 1/a_k) > 1$. Also from Lemma 2.4b, $\{z_k\}_{k=0}^{+\infty}$ is a strictly decreasing sequence of strictly positive real numbers because $z_0 > 0$ and $0 < (1 + 1/a_k) < 1$. Moreover, the sequences $\{b_k\}_{k=0}^{+\infty}$ and $\{z_k\}_{k=0}^{+\infty}$ satisfy Lemma 2.1 because $b_0 z_0^n = r$ follows from the definition of b_0 and z_0 , and $b_k z_k^n = r$ for k = 0, 1, 2, ..., follows by induction since

$$b_{k+1}z_{k+1}^{n} = \psi(a_{k})z_{n}^{k}\left(1+\frac{1}{a_{k}}\right)^{n} = \varphi(a_{k})\left(\frac{a_{k}}{a_{k}+1}\right)^{n}z_{k}^{n}\left(\frac{a_{k}+1}{a_{k}}\right)^{n} = b_{k}z_{k}^{n}$$

To obtain the rate of convergence, we observe that

$$r-z_k^n = \left(r^{1/n}-z_k\right)\sum_{i=0}^{n-1} r^{(n-1-i)/n} z_k^i$$

and

$$\lim_{k\to+\infty}\frac{r-z_k^n}{r^{1/n}-z_k}=nr^{(n-1)/n}.$$

Also, from $b_k z_k^n = r$ we have

$$\frac{r-z_{k+1}^n}{\left(r-z_k^n\right)^m} = \frac{r\left(1-1/b_{k+1}\right)}{r^m\left(1-1/b_k\right)^m} = \frac{b_k^m}{r^{m-1}b_{k+1}}\frac{(b_{k+1}-1)}{(b_k-1)^m}$$

But

$$b_{k+1} = b_k \left(1 - \frac{b_k - 1}{(n - \beta + 1)b_k + (\beta - 1)} \right)^n = b_k \sum_{i=0}^n \binom{n}{i} (-1)^i \left(\frac{b_k - 1}{(n - \beta + 1)b_k + (\beta - 1)} \right)^i,$$

then

$$b_{k+1} - 1 = \left[\frac{n\left(\frac{1}{2}(n+1) - \beta\right) + \left[n\left(\frac{1}{2}(n+1) - \beta\right) + (\beta-1)^2\right](b_k - 1)}{\left[(n-\beta+1)b_k + (\beta-1)\right]^2}\right](b_k - 1)^2 + b_k \sum_{i=3}^n \binom{n}{i}(-1)^i \left(\frac{b_k - 1}{(n-\beta+1)b_k + (\beta-1)}\right)^i.$$

It follows that

$$\lim_{k \to +\infty} \frac{b_{k+1} - 1}{(b_k - 1)^2} = \frac{n + 1 - 2\beta}{2n},$$
$$\lim_{k \to +\infty} \frac{r^{1/n} - z_{k+1}}{(r^{1/n} - z_k)^2} = \frac{n + 1 - 2\beta}{2r^{1/n}},$$

and the convergence is quadratic, but for $\beta = \frac{1}{2}(n+1)$ we have

$$\lim_{k \to +\infty} \frac{b_{k+1} - 1}{(b_k - 1)^3} = \frac{(n - 1)(n + 1)}{12n^2},$$
$$\lim_{k \to +\infty} \frac{r^{1/n} - z_{k+1}}{(r^{1/n} - z_k)^3} = \frac{(n - 1)(n + 1)}{12r^{2/n}}.$$

and the convergence is cubic. \Box

Remark 2.6. The convergence is not uniform in r (see also [10] for $\beta = 0$ and n = 2). Indeed, for $\beta \leq \frac{1}{2}(n+1)$, let $r \to +\infty$, then $b_0 = r/\rho^n \to +\infty$, and for any fixed k we have $b_k \to +\infty, a_k \to n-\beta$, and $z_k \to z_0 \left((n-\beta+1)/(n-\beta)\right)^k$. For $\beta \geq \frac{1}{2}(n+1)$, let $r \to 0^+$, then $b_0 = r/\rho^n \to 0$, and for any fixed k we have $b_k \to 0, a_k \to -\beta$, and $z_k \to z_0 \left((\beta-1)/\beta\right)^k$.

Example 2.7. For $\beta = \frac{1}{2}(n+1)$, let $\rho > 0$, set $b_0 = r/\rho^n$, $z_0 = \rho$, we have methods of order 3 given by

$$b_{k+1} = b_k \left(\frac{(n-1)b_k + (n+1)}{(n+1)b_k + (n-1)} \right)^n$$
 and $z_{k+1} = z_k \left(\frac{(n+1)b_k + (n-1)}{(n-1)b_k + (n+1)} \right)$.

Remark 2.8. The double iterative procedure introduced by Gower [8] corresponds to $\beta = 0$ since for $b_k = 1/(1 + c_k)$ we have $(1 + c_{k+1}) = (1 + c_k)(1 - c_k/n)^n$ and $z_{k+1} = z_k(1 - c_k/n)$. For n = 1, the process can be used to find r^{-1} for $r \in (0, 1)$ using only additions, subtractions, and multiplications. If we start with $b_0 z_0 = r^{-1}, z_0 = 1$ and $c_0 = r - 1$, then

$$c_{k+1} = c_k^2$$
 and $z_{k+1} = z_k(1 - c_k)$.

This is the process described in [8].

3. Newton's method

Let us recall the following result about Newton's method:

Theorem 3.1 (Dennis and Schnabel [3], Ford amd Pennline [6], Gerlach [7], Traub [12]). Let *p* be an integer ≥ 1 , and let F(x) be a regular function such that $F(\alpha) = 0$, $F^{(1)}(\alpha) \ne 0$, $F^{(j)}(\alpha) = 0$ for j=2,...,p, and $F^{(p+1)}(\alpha) \ne 0$. Then Newton's method applied to the equation F(x)=0 generates a sequence $\{x_k\}_{k=0}^{+\infty}$, where

$$x_{k+1} = x_k - \frac{F(x_k)}{F^{(1)}(x_k)}$$
 $(k = 0, 1, 2, ...)$

converges to α for x_0 given sufficiently close to α . Moreover, the convergence is of order p + 1, and the asymptotic constant is

$$K_{p+1}(\alpha) = \lim_{k \to +\infty} \frac{\alpha - x_{k+1}}{(\alpha - x_k)^{p+1}} = (-1)^p \frac{p}{(p+1)!} \frac{F^{(p+1)}(\alpha)}{F^{(1)}(\alpha)}.$$

In order to find the *n*th root of a positive real number r, we consider Newton's method applied to the equation

$$F(x) = x^{\beta - n}(x^n - r) = x^{\beta} \left(1 - \frac{r}{x^n} \right),$$
(3.1)

where $\beta \in \mathbb{R}$. Direct computation gives

$$F^{(1)}(x) = [\beta x^{n} + (n - \beta)r]/x^{n+1-\beta},$$

$$F^{(2)}(x) = [\beta(\beta - 1)x^{n} - (n + 1 - \beta)(n - \beta)r]/x^{n+2-\beta},$$

$$F^{(3)}(x) = [\beta(\beta - 1)(\beta - 2)x^{n} + (n + 2 - \beta)(n + 1 - \beta)(n - \beta)r]/x^{n+3-\beta}.$$

Hence $F^{(1)}(r^{1/n}) = nr^{(\beta-1)/n} \neq 0$ and $F^{(2)}(r^{1/n}) = -n(n+1-\beta)r^{(\beta-2)/n}$. Moreover $F^{(2)}(r^{1/n}) = 0$ if and only if $\beta = \frac{1}{2}(n+1)$, and then

$$F^{(3)}\left(r^{1/n}\right) = n \frac{(n-1)(n+1)}{4} r^{(n-5)/2n}$$

We now have the following algorithm:

Let x_0 given (sufficiently close to $r^{1/n}$), and

$$x_{k+1} = x_k - \frac{F(x_k)}{F^{(1)}(x_k)} = x_k \left[\frac{(n+1-\beta)r + (\beta-1)x_k^n}{(n-\beta)r + \beta x_k^n} \right] \quad \text{for } k = 0, 1, 2, \dots,$$

it generates a sequence $\{x_k\}_{k=0}^{+\infty}$ which converges to $r^{1/n}$. The convergence is of order 2 for $\beta \neq \frac{1}{2}(n+1)$ with $K_2(r^{1/n}) = (n+1-2\beta)/2r^{1/n}$, and of order 3 for $\beta = \frac{1}{2}(n+1)$ with $K_3(r^{1/n}) = ((n-1)(n+1))/(12r^{2/n})$. Moreover, from the variation of the sign of $F^{(1)}(x)$ and $F^{(2)}(x)$ on $(0, +\infty)$ with respect to the value of β , we have:

(a) for n=1 and $\beta < 1$ or $n \ge 2$ and $\beta \le \frac{1}{2}(n+1), F(x)$ is strictly increasing and concave on $(0, r^{1/n}]$, and for any $x_0 \in (0, r^{1/n})$ the sequence $\{x_k\}_{k=0}^{+\infty}$ increases and converges to $r^{1/n}$;

(b) for n = 1 and $\beta > 1$ or $n \ge 2$ and $\beta \ge \frac{1}{2}(n+1), F(x)$ is strictly increasing and convex on $[r^{1/n}, +\infty)$, and for any $x_0 \in (r^{1/n}, +\infty)$ the sequence $\{x_k\}_{k=0}^{+\infty}$ decreases and converges to $r^{1/n}$.

Example 3.2. Square root extraction: n = 2,

$$x_{k+1} = x_k \left[\frac{(3-\beta)r + (\beta-1)x_k^2}{(2-\beta)r + \beta x_k^2} \right],$$

and for $\beta = 3$ it is one of the methods obtained by Heron of Alexandria (about 100 B.C.) [2]

Example 3.3. $\beta = \frac{1}{2}(n+1)$, method of order 3 for *n*th root extraction

$$x_{k+1} = x_k \left[\frac{(n+1)r + (n-1)x_k^n}{(n-1)r + (n+1)x_k^n} \right].$$

These schemes have a long history [1]. They have also been considered by Kogbetliantz [11] for n odd. For n = 2 and n = 3, these methods have already been obtained by Heron of Alexandria [2, 4].

4. Higher order methods

High-order methods for approximating square roots have been presented recently. In [9, 13], the scheme generates the sequence $\{x_k\}_{k=0}^{+\infty}$, where

 $x_0 > 0$ is given, and

$$x_{k+1} = \frac{\sum_{i \text{ even }} {p \choose i} x_k^{p-i} r^{i/2}}{\sum_{i \text{ odd }} {p \choose i} x_k^{p-i} r^{(i-1)/2}} \quad \text{for } k = 0, 1, 2, \dots,$$

which converges to $r^{1/2}$. The convergence is of order p, and the asymptotic constant is

$$K_p\left(r^{1/2}\right) = \lim_{k \to +\infty} \frac{r^{1/2} - x_{k+1}}{\left(r^{1/2} - x_k\right)^p} = \frac{1}{\left(-2r^{1/2}\right)^{p-1}}.$$

In [13] the scheme is related to continued fraction expansions of $r^{1/2}$.

To get higher-order method for finding $r^{1/n}$, we can try to find a function g(x) such that

$$f(x) = g(x)(x^n - r)$$

satisfies the assumptions of Theorem 3.1 [6, 7]. Let us observe that $g(x) = x^{\beta-n}$ in (3.1). One such function g(x) is

$$g(x) = \sum_{i=1}^{p} a_i (x^n - r)^{i-1} = \sum_{i=1}^{p} {\binom{1/n}{i}} \frac{(x^n - r)^{i-1}}{r^i}.$$

It can be shown [5] that

$$F(x) = g(x)(x^n - r) = \sum_{i=1}^p \binom{1/n}{i} \left(\frac{x^n - r}{r}\right)^i$$

verifies $F(r^{1/n}) = 0$, $F^{(1)}(r^{1/n}) = r^{-1/n}$, $F^{(j)}(r^{1/n}) = 0$ for j = 2, ..., p, and

$$F^{(p+1)}\left(r^{1/n}\right) = -\binom{1/n}{p}(p+1)!n^{p+1}r^{-(p+1)/n}.$$

The sequence $\{x_k\}_{k=0}^{+\infty}$, where

 x_0 given, sufficiently close to $r^{1/n}$, and

$$x_{k+1} = x_k - \frac{F(x_k)}{F^{(1)}(x_k)} = x_k - \frac{(x_k^n - r)\sum_{i=1}^p \binom{1/n}{i} ((x_k^n - r)/r)^{i-1}}{nx_k^{n-1}\sum_{i=1}^p i \binom{1/n}{i} ((x_k^n - r)/r)^{i-1}} \quad \text{for } k = 0, 1, 2, \dots,$$

converges to $r^{1/n}$. Moreover, the convergence is of order p + 1, and the asymptotic constant is

$$K_{p+1}\left(r^{1/n}\right) = \lim_{k \to +\infty} \frac{r^{1/n} - x_{k+1}}{\left(r^{1/n} - x_k\right)^{p+1}} = -pn^{p+1} \left(\frac{1/n}{p}\right) r^{-p/n}.$$

Acknowledgements

The author would like to thank the referee for suggestions that improved the presentation of the paper.

References

- [1] D.F. Bailey, A historical survey of solution by functional iteration, Math. Mag. 62 (1989) 155-166.
- [2] S. Breuer, Z. Gideon, Numerical Mathematics A Laboratory Approach, Cambridge University Press, Cambridge, 1993.
- [3] J.E. Dennis, R.B. Schnabel, Numerical Methods for Unconstrained Optimization and Nonlinear Equations, Prentice-Hall, Englewood Cliffs, NJ, 1983.
- [4] G. Deslauriers, S. Dubuc, Le calcul de la racine cubique selon Héron, El. Math. 51 (1996) 28-34.
- [5] F. Dubeau, Algorithms for nth root approximation, Computing 57 (1996) 365-369.
- [6] W.F. Ford, J.A. Pennline, Accelerated convergence in Newton's method, SIAM Rev. 38 (1996) 658-659.
- [7] J. Gerlach, Accelerated convergence in Newton's method, SIAM Rev. 36 (1994) 272-276.
- [8] J.C. Gower, A note on an iterative method for root extraction, Comput. J. 1 (1958) 142-143.
- [9] B. Kalantari, I. Kalantari, High order iterative methods for approximating square roots, BIT 36 (1996) 395-399.
- [10] R.J. Knill, A modified Babylonian algorithm, Amer. Math. Monthly 99 (1992) 734-737.
- [11] E.G. Kogbetliantz, Computation of sin N, cos N and $\sqrt[n]{N}$ using an electronic computer, IBM J. Res. Dev. 3 (1959) 147–152.
- [12] J.F. Traub, Iterative Methods for the Solution of Equations, Prentice-Hall, Englewood Cliffs, NJ, 1964.
- [13] A.K. Yeyios, On two sequences of algorithms for approximating square roots, J. Comput. Appl. Math. 40 (1992) 63-72.